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Vt=(250*190)*0.4

Vt=19000m3
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Vf=vt*cf

Vf=19000(1+0.18) =22420m?
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Vt1=(2.4*%2.0)*1.85*25=222m?
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Vt2=(2.5*2.5)*1.85%15=173.43m?>

Slaba) ol Alaa¥) aaadl Glwa-
Vt=vtl+vt2=222+173.43

Vt=395.43m3

QALY any b)) 49 5 aa Gl -4
Vf=vt*cf=395.43*1.23

Vf=486.37m3
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VB=(395.43*35)/100
VB=138.40m3
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Vt=395.43-138.40
Vt=257.03m3
il a3 adal) Glus -
Vf=Vt/Ct
V{=257.03/0.87
Vf=295.43m3
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22*3.5+20*2+26*5+hc*2.5-vc*8=0
Vc*8=22%3.5+20*%2+26*5-22%2.5
Vc=24kn

Sm/c=0
Vb*8+22%1-30*8-20*6-26*3=0
Vb*8=-22*1+30*8+20*6+26*3
Va=52kn



